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Sig. of Candidate. Sig. of Invigilator.
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MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

(Science Group)

NOTE:

Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

_ 2 6
(i) If A =0then x=?
3 ox
A 8 B. -6 C. 9

(it) (43 with radical sign is:
A ¥ B. & c. Y&

(i) If log, y = xthen:
A a' =y B. a’=x C. =y

(iv) The degree of the polynomial x* y* +3xy + ' is:

A 2 B. 3 C. 1
(v) Find ‘m'sothat x* +dx + mis a complete square:

A g B. -8 C. 4
(vij  HCFof x> -5Sx+6and x* —x—6is:

A x=3 B. x+2 C. x-2
(viiy LCMofad’+biand o' —b'is:

A @ +b° B. at - b? C. at b
(viiiy  If xis no larger than 10 then:

A x=10 B. x<10 C. x>10
(ix) Paint (--3,-3)lies in guadrant:

A !/ B. i C. il
(x) Mid point of the peoints (2,-2) and (~2,2) is:

A (2,2) B. (-2,-2) C. (0,0)
{xi) The Altitudes of an isosceles triangle are congruent.

A Two B. Three C. Four
(xii) Distance between the points (—-1,3)and (3,-2)is:

A Jai B. —J41 c. 4l

al _

{xiii) is called matrix.

0 o]

A Unit B. Scalar C. Zero
(xiv) If ¥ =—lthen i=?

A 1 B. -1 C. +1
{xv) If two medians of a triangle are congruent. Then triangle will be:

A. isosceles B. right angled C. equilateral
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Time allowed: 2:40 Hours

MATHEMATICS SSC-I
(Science Group)

25

Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log table and graph paper wiil be provided on demand.

SECTION — B (Marks 36}
Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
302 2 4 ] , C
(i) Let 4 :L 1J . B —[3 : then verify that (4B) = B'A
iy Solve by using C e S0
i olve by using Cramer’s rule ’
(W y using Sk 2y=-10
2 i
.7 .
iy Simplfy —(“]'6)3“(33)2
(0.04) :
(iv) IfZ=2+3iand W =5 dishowthat ZW =Z W
. . -2
(V) Find the value of ' xif log,, x:-é—
438)'V0.056
(vi) Use log table to find the value of Q_L__E“_M_
(388)
(vi)  If Sx-6y=13and xy =6 then find the value of 125x" - 216y’
E— ;
e - _ 2
(viil)  Simplify Ja'e2s “/“
Ja? 42 -Ja* -2
(x)  Factorize 25x* —10x+1-362°
(x) For what value of * m is the polynomial p(x)=4x" —7x* +6x —3m exactly divisible by x -+ 2
{x1) Express the decimal 0.23in the form of £ . where p.gezand g #9
q
(xii)  Find the L.C.M of 4(x* =1),6(x" —x* - x + 1) by factorization.
2 2 22 Tv i v oy e
(xii)  Simplify [*2 L yl;{*‘ ¥z }}
X -y xT+y° X—y X+Yy
(xiv)  Using division method find the square roct of 9x* —6x* +7x* —2x+1
(xv) Solve each equation and check for extraneous solution, if any i/z —1 =21 -28
(xvi)  Solve for x |3+ 2x] =|6x -7
(xvil)  Solve 3(2x-+1)-2(2x+5)<5(3x-2)
(xviil) Solve the equations graphically x=3yand 2x-3y=-6
SECTION — C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Q.3  Show that the points A(—6,-5), B(5,-5),C(5,~8)yand D(-6,~-8) are vertices of a rectangle. Find the lengths of its

diagonals. Are they equal?

Q.4  Iftwo angles of triangle are unequal in measure, the side opposite to the greater angle is longer than the side

oppaesite to the smaller angle.

Q.5 Iftwo angles of a friangle are congruent, then the sides opposite to them are also congruent.

€1.6 The bisectors of the angles of a triangle are concurrent.

Q.7  Construct APOR, Draw their altitudes and show that they are concurrent.

m.f’"é =4.5cm . mQ__R =309cm . msR =45

— 18A 1609 (L) ~——
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MATHEMATICS SSC-
SECTION — A (Marks 15)

Time allowed: 20 Minutes

(Science Group)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i) If Z=~1-ithen Z=?

A. [ B. —1+i C. 1+ D.
(ii) log, axlog, b can be written as:

A. log, ¢ B. log, ¢ C. log, a D.
{iii) (@+bXa* -ab+b*)=7

A @+ b B. a—b C. (a+b) D.
(iv) Factors of 5x* —17xy — 12y are:

A. {(x+4y),(5x+3y) B. (x ~4),(5x—3y)

C (x—4y),(5x+3y) D. (5x—4y)(x+3y),
(V) An irrational radical with rational radicand is called afan:

A Rationa! number B. Irrational number

C. Surd D. Both A and B

(vi) HC.Fof p'g-pg’and p’q* - pq’is:
A. ra(p’ —4¢*) B pa(p—q)  C. py(p-9) D

(viy  The square root of x* +L4 +2s:
X

]
A. i[x+l\‘ B. :t(xz +1—,) C. i(x—~} D.
X/ x° X
(viil) LCMxHCF=?

A plx)xg(x) B. pix) C. plx)+g{x) D.
g(x)
. ) 3
(ix) x= is a solution of inequality -2 < x < 5
A -3 B. 3 C. 0 D.
(x) Which order pair satisfy the equation y = 2x
A. (2,1) B. (LD C. (2,2) D.
{xi) A triangle having all sides equal in length is called:
A. Isosceles B. Scalene C. Equilateral D.
{xii) The median of triangle cut each other in the ratio:
A. 4:1 B. 311 C. 2:1 D.
(xil)  Distance between the points (0.2)and (-3,0) is:
A 5 B. 13 C. 13 D.
2 1]
{(xiv)  Order of transpose of | 0 | |is?
3 2
A 3-by-2 B. 2—hy-3 C. 1-by -3 D.
(xv) Characteristics of 1662.4is?
A 1 B. 2 C 4 D

For Examiner’s use only:
Total Marks:

Marks Obtained:
—— 1SA 1609 (ON) —
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MATHEMATICS SSC-I

(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:

Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘c’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log table and graph paper will be provided on demand.

Note:

Q.3

Q.4
Q.5
Q.6

SECTION - B (Marks 36)
Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
3

(i) If A :b

2}hen prove A4 =]

3x-4y=4

{ii) Solve by using matrix inverse method
x+2y=8

{ aL‘ a2m \\I aln N
(|“> Simpllfy L Tim e J u—vIJ
[24

e SN /

1

(iv) Simplify and write your answer in the form of  a+bi, ————
(2+3D(0-1i)

(V) Simplify log, 3% log, 8
(Vi)  If log2=0.3010,log3=0.4771,log5 = 0.6990 then find the value of log30
(vi)  Find the product using formula (2x* = 1)}(2x* +1)(4x" + 2x" + Iy(dx* = 2x% + 1)

k)

, ] F
{viii) fx=2+ ﬁ then find the vaiue of x——and Lx —J
X X

(x)  Factorize x’ +48x—12x" — 64

(x) If x ~1is a factor of polynomial x° —kx” +11x -6 then find the value of & .
(x)  Factorize the cubic polynomial 3x" —x* ~12x+4 by Factor Theorem.

(xi)  Find H.C.F of6x’ —7x° —27x+8and 6x" +17x* +9x—4 by division method.

Pox-6 x'+2x-24
- +

X
{xiii Simplif e
) Py x -9 x —x—12

(xiv)  Using division method Find the square root of 4x* +12x" +x* —12x+4
{(xv) Solve each equation and check for extraneous solution if any Y2xr—4-2=0
(xvi)y  Solve for x x+2|-3=5"|x+2i

(xvii)  Salve -3« i—FZ{ <]

>

(xviii)  Salve the equations graphically 2x+v—-1=0and x=-y

SECTION — C (Marks 24)

Attempt any THREE questions. All questions carry equal marks. (3 x8=24)
Let (0,0),4(3,0)and B(3.5) be three points in the plane. if A7, is the midpoint of ABand M, of OB Then
show that [A\ M, = 15!0/1\
The right bisectors of the sides of triangle are concurrent.

The sum of the fength of any two sides of triangle is greater than the length of the third side.

In the correspondence of two triangles if three sides of a triangle are congruent to the corresponding three sides
of the other, then the two triangles are congruent.

Construct AXYZ mYZ =4.lem . m/Y =60° | mzX =75
Draw their medians and show that they are concurrent.

—— 18A 1608 (ON) —
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MATHEMATICS SSC-I
SECTION — A (Marks 15)

(OLd Syllabus)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/ D. Each part carries one mark.

L,
u
|
|
]
|
|
.
|
B (i If the number of elements in set A and B are ‘n’, then how many binary relations are possibte in (A x B)
A. 2" B. 2" c n* D. 22
a (ii) If A and B are subsets of each other then A and B are called sets.
e A Equal B. Proper C. Overlapping D. Disjoint
1 I
(i) If x+—=28 then (x+—)" =7
" p )
A 80 B. 64 C. 66 D. 62
- (iv) Which one is a pair of conjugate binomial surds?
- A (2-B)E-B) 8 (V2+3)(42-43)
a c. (V2+3)(2-43) p.  (V2+3)(2+43)
(v) I log,32=5 then x=
a A 2 B. 3 c. 1 D. 2
2
. (vi) If x = Antilog (2.5321) then logx =
a A 340.5 B. 0.5321 C. 2.56321 D. 2.3405
{vil) Product 103x97 is obtained by using:
a8 A (a+b)* B. (a+b)a-b) C. (a—b)* D. None of these
a (vii) H.C.Fof 5)52)/2 , 20)63))3 and 25x4y2 is:
A Sxy B. Sny2 C. 5x2y D. 5xy2
L (ix) Factorization of (1 +4ab —4a’ ~b2) is:
[ ] A (1-2a+b)1+2a—-b) B. (142a+b)1-2a+b)
- C. (1-2a+b)(1+2a+b5) D. None of these
®  Determnantof|> .
X eterminant o is:
] 3 Y
) A -8 B. 0 C. 9 D. None of these
3
(xi) Product of &Il 2=
o | &l 2]
3 3 6
- A 2] B. c. o [s]
2 I 2
o (xii) If a transversal cuts two parallel lines then how many pairs of corresponding angles are formed?
o A 4 B. 3 C. 2 D. 6
(xiiy  Through one point lines can pass.
u A Infinite B. One C. Two D. Three
30
(xiv)  Matrix is called matrix.
a 03
A Diagonal B. Scalar C. Row D. Both A and B
. (xv) The altitudes of an obtuse-angled triangle intersect each other the triangle.
. A Inside B. On C. Outside D. None of these
] For Examiner’s use only:
. Total Marks: | 15
Marks Obtained: |
[ L
da
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MATHEMATICS SSC-I 12

(Old Syllabus)

Time allowed: 2:40 Hours | Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log Table will be provided on demand.

Note:
Q3

SECTION — B (Marks 36)
Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(i If A={1,2,3} and B={2,3,4} then find the binary relation in (Ax B)when
R={(x.y)lxe AAnye Bry>x}
(i) Write the following sets in tabular form:
Az{x‘xep A x <23}

B={xlxrez nx?=16}
C={3x
iy FU=N, A=@ , B=P thenverify (AU B) =A° "B

x € w}

—Ja-2
(v)  Simplify: a+2-vd
Ja+2+~a-2
» p+q p g+r .
(v)  Simplify: [Y—J [x—rJ 23w x?)
x7 x

3

t2

{vi) Find the number of digits in
(8.97)% x (1.059)°
(57.7)

(vii)  What should be added or subtracted to (9c12b2 ~12abc) to make it a perfect square?

{vii) Evaluate with the help of logarithm.

(ix) Find the value of (1 005’)2 by using the suitable formula.
(x) Find the remainder (by using remainder theorem) when (x4 —2x% +3x+3) is divided by (x—3)
(x0) Factorize: 1+ 2ab— (ar2 + bz)
(xii) Factorize: 4x> - 21x—-10
(xiiy  Simplify: (2”)’ —1] - [h al ]
K X+ B4 X+ y

(xiv)  Find the square root: x(x +2)(x+4)}(x +6)+16

(xv) Product of two expressions is (x4 +3%° —12x° —20x + 48) and their L.C.M is (x3 +5x7—2x-24).
Find H.C.F.

(xvi)  Write the equations 2x+ky =7 and 3x—9y =9 in matrix form. Also find the value of 'k’ if the
matrix of the co-efficient is singular.

(xvii)  Solve: (with the help of matrices) Sx =13-2y ; Sy=17-2x

2
I (216 (25)"
(xviii)  Simplify: —
(0.04) 2
SECTION — C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Prove that if transversal intersects two copianar lines such that the pair of alternate angles are
congruent, then the lines are paraliel.

Prove that in a parallelogram:

a. Opposite sides are congruent
b. Opposite angles are congruent
c. Both of the diagonals bisect each other

Prove that if in any correspondence of two triangles, two angles and one side of one triangle are congruent

to the corresponding two angles and one side of the other triangle, then the triangies are congruent.

Construct a triangle ABC when mAB = 5cm mCA=56em , mZB=105°
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(12x3=36)

R=ttvlved ave Bavsxl goofr i (AxB) 5, B=[234),
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(3x8=24)

cB=i{xlxez AxT=16);C

- 2x—-24)

(364F) oo
S5 Sz (12) ugc,éfc_u:w.»p

”)';l =

! (i)
P

-J.'.”Lf.'ﬂw)’df»ili(gt)gu# (ii)

7

o = {3.3('1‘ e wl

(AUBY =4 B [ lewin U=N . A=3 . B=P S 4

Nu+2—=+a ~2

e :"{,Jg v
Jaoi2+da-2 T )
\/) 19} t[H s
L | (h ’ ) e V)
G / -

_é':;['}"ﬂ,«;u(grﬁzuf 2’ {vi)

(8.97)% % (1.059)° . .
(57.7) Eeede nGEH (il
sy 9 Al :j »J /Lv"‘%"/( (eh” —12ube) {viif)
LA EE 009 S0 E e ()

WOt x)
TN

~ 207 4 3x 43y Sz il
14+ 2ub—(a” +b7)

47 20x-10 ZE6F i

2x 4y ’ X .
(\ X+ ) - l) B {lw ;——;)J &7 b
Mx+2Ux+4)x+0)+16 ?':if’w/%’ (xiv)
FiSiesiss (_\-4 +350 = 1207 =200 +48) _ ALK S )
i 3x=9y=9 y2x+ k=T . (xvi)
SY=13-20 0 Sp=1T 220 b fu e ixvii
QIoreyt
V' 004 s=/7 bl

(24/,‘1};) (o
(,ut/l//a:u:‘ﬂrrl?_éd'dlr & 4N

-:._.;_,! Oty .k-J""“’( rJL:”«’"'L;U sL* n d.,h.__u/l’u'l e s gié)bd}""f I Jz)uL' ,fcf__fl?

i ,-"..J‘""L,L.:.. .»-")..,ﬁ 7'@'!5'
A

T g L
B It i IV SIS Pl.o‘_..u.—»/

& YL (e PR

LRI P S

e LA
Sai5 S )’v_h;lr‘;,ng, \-«C’ 2
mAB = S5cm

. mCd = 5.60m msB =105 22 LABC »d-
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